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Answerall the questions. Each question carries one mark.
-~ = g =) g =d
SIor) @3;7{@52&2(@1)3 O%. |, %3;7? 20T €903,

1. The following is a micronutrient for plant growth

a) Nitrogen b) Zinc c) Potassium d) Phosphate
Jr{»ﬁ 3SR LTI BT c@ewﬁao:fﬁ
a) AOOHIT b) 235" C) P00 d) s
2. Vitamin D is rich in
a) Chicken b) Milk c) Egg d) Cod liver oil
£83500° Do BE0Y TN
a) BREVTIN0R b) B0 c) SR, d) Qoedg.
3. Best method of managing biodegradable waste
a) Composting b) Deep well injection
c) Sanitary landfill d) Incineration
08 AP IBRRWE S, ned RRZION AeF &R 0ed
) Rees em@dé b) 23R BYTE) BONCIVTHTO
c) A 2430 o) Eotod d) mbf\o@da
4. Congenital diseases are
a) Acquired during life time b) Spreads from person to person
c) Diseases present at birth d) Deficiency of nutrients
2] 3:;::.2713%;&;
a) 23eTIRE F0US b) 2.2300e3Re0R BT deen
C) BOT 2T Been d) PRI BRHTS
5. The disease affecting the respiratory tract
a) Rabies b) Influenza c) Polio d) Viral Arthritis
TR, ROWORRITI TOCWS
) Bewa b) 2RO  ¢) Fpedodee d) 0" Foto
6. Biomedical waste should not be stored beyond
a) 48 hrs. b) 96 hrs. c) 72 hrs. d) 24 hrs.
zz;’}ébé 3%3%7{%35% NoYNY 83080 3e)THBRAPALIITT.
a) 48 b) 96 c) 72 d) 24
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Bone is affected by

a) Chlorine b) lodine c) Fluorine d) Bromine
20008 BR0B3CIRMIR)TD VWO
a) 3o’ b) »odeeR® C) RO d) B8R e’

. The following is a non-renewable energy
a) Solar b) Wind c) Fossil fuel d) Tidal waves
POTIBERRNS I
a) ARCDF-zD b)) MY c) I3 0ops  d) ARVVTT &
Pulse Polio Immunization Programme was launched in India in
a) 1980 b) 1995 c) 1975 d) 1990
03T PeA03RE VRTOI TOOIF B30 T, TVOLIRIT WA
a) 1980 b) 1995 c) 1975 d) 1990
International Day of Yoga was celebrated on
a) June 218t b) June 5" c) May 22nd d) December 18
208009, €03 odpen ORI, BOT E33ORIBYT
a) xR 21 b) =I5 c) 2022 d) &=owo° 1
The Buddhist king practiced Ayurveda even in 226 B.C. was by
a) King Ashoka b) Krishna Devaraya
c) Mahaveera d) Chandragupta Mourya
3. &p. 22609 odde E5030053F eTIHI), 52308 B08 130T 0o
a) 0o WBRET b) 3 3309030
C) FOTONET d) oo dﬁda
Which is the natural habitat of the Indian Lions ?
a) Sunderban b) Gir forest c) Nagarhole d) Kanha National Park
23908030 AOTNS mdmaé QR O3R)T0 ?
a) RO I3 b) NO® &0,
C) JNTIRS d) 50w 0ody,e0 SUaptacn
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13. The ecofriendly fuel is

a) Petrol b) CNG ¢) LPG d) Kerosene

TORT Aedo RO

a) Jgkp e’ b) &.05°.23. C) RO .23 d) R0
14. Normal body temperature of an adult is about

a) 99.2°F b) 94.6°F c) 96.8°F d) 98.6°F

mdmag Bems emdméodaa aﬁodm;cj@q QTR

a) 99.2°F b) 94.6°F c) 96.8°F d) 98.6°F
15. Unani medicine approach first started in

a) India b) Greece c) Germany d) USA

0320590 BROOID VRO 23207 030E Be3TE) wHASNS) ?

a) ¢T3 b) nex* C) wWROFR d) odoafR
16. “Rain forests of oceans” refers to

a) Minerals b) Coral reefs c) Whales d) Sediments

2% ANTE BoFErddned (Rain forests of oceans)»otd F300O0EZE

a) DTN b) TJSQened  ©) Soonond d) =Rowsodnsd
17. Ozone depletion was first observed in

a) Arctic region b) Southern hemisphere

¢) Northern hemisphere d) Antartic region

WIBIWTLITA) 2t ReR %Mesée%’dza@ RBRTO WOOR YY) MITIERSCB0

a) wIress BT b) w8ge Reewnsss

C) Vg3 ReewRE d) 0803 B3es
18. Lack of sufficient oxygen in the bottom sediments of riverbeds is known as

a) Hypoxia b) Hyperxia c) Biomagnification d) Precipitation

S0 BENSYOTIT RTTT Mdém&l &0t 5303083

a) RFIPeEOD b) %dcf 3O

C) LO3RERRNLEST d) Q033
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The technology used for the generation of energy from waste is

a) Mineralization b) Sedimentation

c) Segregation d) Biomethanization
85,000 QOGS (:8_63) BdROFONG V03 eeNHTIT 30325 O

a) S03eTTED b) JeadTedesden

C) $Qe3Te0 d) 0T Qoegien” Fodwod
Homeopathy originated in

a) India 'b) Greece c) Germany d) China
TR EIRETS 3300 a’cgs%ojoa 83 3303 739,0083000080

a) T3 b) nexs C) IO d) 83
pH of acid rain is

a) 6.6 b) 5.8 c) 6.7 d) 7
333 Wovod 2 (pH) BREST |

a) 6.6 b) 5.8 c) 6.7 d) 7
Vrikshasana is good for

a) Strengthens legs and hips b) Blood circulation

c) Urinary disorders d) Nervous disorders

“a’g)sama’s"d\) <a53§ NS
a) W B RROWBI) WOBBRO b) 0% @Wowesn
C) RRZ Foewod FCSH d) 33 deennent

Which of these treatment involves trickling filters, activated sludge ?

a) Primary b) Secondary c) Tertiary d) Quarternary
BRePT BIoNnNE (trickling filters) 2B OIR,E wrﬁ\d (activated sludge) Fq’of-‘gdsa
3o B3 D803 BoRTrorEd

a) TP b) & dea c) gdeod d) %370
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| 28.

Leukaemia is a cancer of

a) Skin b) Bone c) Muscle d) RBC

" 20 2e20030"” 02T CIRT Lont FYR07

a) @¥=F b) S C) RBRoRDE d) RBC
Expanded form of VPD

a) Vaccine Preventable Disease b) Vaccine Preventable Disable
c) Vaccination Preventable Disease d) None of these

VPD o 0793 B

a) Vaccine Preventable Disease b) Vaccine Preventable Disable

c) Vaccination Preventable Disease d) 332¢9s canman @,

Soaps and detergents are the source of organic pollutants like
a) Glycerol b) Organochlorines
c) Sulphonated hydrocarbons d) Polyphosphates
ARLURRD T2 SR TNTY GUBZ WINTEIN Ao Ty

a) NATee® | b) wmordee 30
C) RSRESCLIT FTBETWF D, d) IR
Commonest cause of stroke is due to cerebral

a) Thrombosis b) Hemorrhage

c) Embolism d) Infarction
T, F 590 IV FOWRE, 50y ATV R

a) %oriof\é)% b) %oﬁonésé

c) @%@é d) @300

BMI means measurement of

a) Obesity b) Bone density

c) Oxygen levels d) Serum levels
BMI 20038 c3ngT0 2030320038

a) ARVTOD b) @aegcDd A0S
c) @S;gs;ﬁéd TeSed d) 2eToTWesmed
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29. Article 47 deals with
a) Rightto Information
b) Right to Merciful Death
c) Rightto Education
d) Rising the Nutritional Level and Quality of Life
RONTOIT 47 3¢ w@?ﬁ@d@j 25tovle) wﬁ 933
a) B TR,
b) Fobrmet MRS B
C) 93890 T
d) =t @mo:sz% R0 B3y 303 2eBIE rOLETLFE 008

30. Suspension of airborne particles that contain living organisms is called

a) Droplet b) Mixture c) Bioaerosol d) Biopesticide
B OT0TR)Y, Movaddd eeown ésar{%fa’wo{ &oeriomd 3303083
a) ™ b) Q0Zed C) DT P3VTE  d) DT deeswTT
31. 17D vaccine is recommended for active immunization against
a) Diphtheria b) Herpes c) Sandy fly fever d) Yellow fever
B3 300003 WIEoB BB “17D 23”0000 ©RF TIFLD ARURIZVT
a) BeooIn b) RZFRO C) 000 Jeee &0 d) SO W0
32. According to Sushrut Shastra, Karma should be in empty stomach for the
diseases
a) Udarroga b) Mukh roga c) Bhandar roga d) Allthe above
ROBITIORL FToT B THOVSTVN SIS Fa0F 332 000 BRI, sezeedesd
a) I3 TReR b) @02 deen c) womd deen d) TR0 DO
33. National Environmental Tribunal Act was proposed in
a) 1991 b) 1995 c) 1997 d) 1999
098,003 WORT L3WRTOT T B3 TR TFIDITTDOB)
a) 1991 b) 1995 c) 1997 d) 1999
34. Deficiency in vitamins and minerals leads to
a) Obesity b) Malnutrition c) Thyroidism d) 1B
DLRT® ToNR DIVOBNG BRTS03 WO
a) ;L%@anjo b) w&Paps C) GoCRRRO d) gosodeen
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35. The first UN conference on environment was held in

36.

37.

38.

a) Montreal b) Riodejaneiro c¢) Stockholm

23, BoRoT0 03 P23 BER BORT BRFID) AL, BN
a) rooe3edde® b) dodpe-B-%ITH
C) AT TP d) ¥R WNE

The presence of E.Coli in water indicates contamination by

a) Hydrocarbon b) Phosphorus

¢) Human waste d) Mercury
26038 8. BRI mﬁe@c&ar{% a‘émum@do

a) %za’@@wrasﬁ%?od b) Sowztowm

c) BRIB 20T ’ d) E3RT
Public health ethics is

a) Population centered b) Patient centered
c) Subject centered d) None of the above
AOTFRJT SBREN DES03

a) WTRO Feoly 638 b) deen Beod e
C) QWO o, eTB d) cRTe B

Pests and vectors in agricultural crops increases due to the
a) Increase of temperature

b) Increase of humidity

c) Botha)and b)

d) Decrease of temperature and humidity

oyEvaRleve 2ISRSE) eednied 02 380" ned aﬁzsaur{w 3905

a) UTROBE U

b) %?%d TOBITTEIT 3003

c) a) B3 b)

d) wmmoeﬁ BB B€e300BT 3R

NS —-627

d) Johansberg
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Dobson Unit (DU) is used to measure the
a) Atmospheric carbon dioxide b) Atmospheric nitrogen
c) Atmospheric ozone d) Atmospheric methane

‘Qdﬁaq PO WD CRRVEIR) vuEcdReNz 3
a) NVTITWTLATATITI VOO 3, &8 R TR
b) 0ZBTLTYTIRN FTRIFI Tewed

C) SPVTOFTLTOTO Lotdeen's TSIV

d) TTTEITYTI eFe"S TWwed

40. London smog was originated due to the presence of
a) Oxides of nitrogen b) Oxides of sulphur
c) Oxides of carbon d) Phosphorus pentoxide
OB TN (SMOY) 032 VBT [TIEV0E GaDfelelAVDIoV Y
a) ATEIFE & id b) Mogdea &8 worish
C) QoMY &8 & Nt = d) doxss ToLT
41. The chemical constituents commonly used to adulterate turmeric is
a) Lead chromate b) Copper sulphate
¢) Cadmium chloride d) Mercuric chloride
@&%ﬁ FOUITE wREED AOBITEN YUTOIRENRS TIOR3 WA
a) AR B ee b) 20wyt Aedees
C) TR0 3Red e d) <o©0R3 BRed e
42. Night blindness is due to the deficiency of
a) Vitamin A b) Vitamin B c) VitaminC d) Vitamin D
CIRRTIT ERTZCW0T QTR BOTIERRYE) ?
a) e 'Y b) emvon‘w C) ©&Jon‘ d) e’
43. The World Ozone Day is celebrated on
a) March 21st b) April 22nd c) June 5" d) September 16t
Q‘D% b2Res” OTITH
a) W21 b) Do 22 C) WRF5 d) AFowwo® 16
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44 National Tuberculosis Research Institute is located at

a) Ahmedabad b) Bengaluru c) Jaipur d) Hyderabad
T98, 003 %Mojadraeﬁ ROBREGID B0 DY AILRVEST
a) BRI b) oneieod c) ¥ d) PoRe®
45. Which of the following is not an example of green house gases ?
a) Carbondioxide b) CFC’s c) Oxygen d) Methane
B3 3PBOBRNSE) CINYTO BATIROS LRONIR YOTRTTFRODY ?
a) QOTPUT g T T8 b) CFCnsb
C) BRIT d) Qoeges®
46. The layer of atmosphere which protects the earth from UV radiations
a) Troposphere ' b) lonosphere
c) Stratosphere d) Lithosphere
?,ifaéboox:% 98T STLINP O dgﬁod TOINTTO
a) @RIPACITT b) sodpedpercddo
C) A E3REAC3ITT d) Ogeeaoddo®
47. Human Development Index is a composite of
a) Life Expectancy b) Literacy and Education
c) Income d) Allthe above
RNTHS LRF[ Q0D Foded
a) W LR b) mgdé 0B DTG
C) &0 d) 83 2mN%
48. Cumulative increase in the concentrations of a persistent substance along the
food chain
a) Biological diversity b) Biological magnification
c) Biological depression d) Bio remediation
390 ROTPOD 203 @@Sd:ﬁg DTN
a) %6 FAGE b) 22exm TR
c) DT wRIRTED d) o§eE dEwr oS
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Thermal pollution may cause

a) Increase of BOD level in water b) Increase of CO, in water
c) Increase of COD level in water d) Decrease of dissolved oxygen in water

emagg m@#%aod QT LVOEIDINLITIT

a) Q03 BOD Fesnes 003 b) QO RomeT T 58, 7 BRI Bed¢
c) 2e0z9. COD &a3roeacs 0% d) Qe0IE FONT SNRIFTR) 3RS
Black lung disease is an occupational hazard due to the mining of

a) lron ore mining b) Copper mining

c) Coal mining d) Lead mining

3% 9 880e3 (Black lung) 520008303 QT NER0F BRI TO0T WP
a) BT VOO NEINoO3 b) 20z nesnood

c) 3QTIINedno0d d) 63T Nedrdd

The following chemical is used for artificial rainfall

a) CuSO, b) NaCl

c) Kl d) HgCl,

‘338 YR B3 camcja@%da’% WIRODNIRY) T

a) IO Aees b) Ape@odo g

C) TPLYR0N0 p3REE d) =08yF 0T dRednT

The organism is an example of a photoautotroph

a) Algae b) Fungi c) Viruses d) Protozoa
B8 YUBTIT 2T QT YVTTIBOFBOIRNT

a) @o%W b) &deogy c) J0=° d) Zpdrenes
Typhoid is caused by

a) Fungi b) Viruses c) Bacteria d) Algae
CEiplovw) ) QTOOT WINPT

a) &deogy b) &= C) 2I3EO0L d) o
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54.

os.

56.

¥ 4

58.

Algal blooms results in

a) Global warming b) Eutrophication

c) Salinization d) Biomagnification

55923 90LODBODO0TI LVOEITOR)TO

a) 2IINET TODRIS b) 0320t e8e83t0

C) ©BeIeTTED d) woﬁmem@zﬂ@@edv

Mumps is a disease of

a) Parotid gland b) Submandibular gland

c¢) Sublingual gland d) Submaxillary gland

RoTBe3), T0NY

a) TTRCLT TROT° b) R 3,0RLOTDT RO

c) R don,o* Mo d) B BRIV O

Which of the following constitutes the typical modern municipal landfills ?
a) Ground water monitoring wells b) Permeable barriers

c) Leachate treatment facilities d) Impermeable barriers

B3 3SNT CXRRYTO TEIED BTBBNF STOVE aémzsmdﬁ%fq ReleinlpIa] 5’@@@32; 9
a) 203WFO BOBCLTD WIIN b) e 03e0e* 233,00300°

C) Oerders® 83eE37a300E° BV d) Rredd 3R SERRCE/ SETD
Chlorination of water leads to

a) Disinfection b) Removal of turbidity

c) Increase in oxygen d) Decrease in oxygen

REOR BREONEBTEID0TINI TOFEIR)

a) CREMDEDD VBIWF OF b) n0e3d5e305F0I e

C) eRRITE 63&%3@ d) SRRITE 3RS

The Forest (Conservation) Act was enacted in the year

a) 1986 b) 1974 c) 1980 d) 1972
5069, BOTFES TI000TS O3933 TRF T3 TOOOIRNT 7

a) 1986 b) 1974 c) 1980 d) 1972

NS —-627
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Ashtanga yoga of Patanjali as per Swami Vivekananda is
a) Bhaktiyoga b) Rajayoga c) Karmayoga d) Jnanayoga
Geclor S love) WTWON 03ReN) DBETITOTT 035e 03PN w@ﬁsén)d 9

a) yiodeen b) comadneen C) sRoradeen d) R godeen
Filtration is one of the primary functions of

a) Lung b) Heart c) Kidney d) Liver
RRCAINFOTD B3 FPNT 2008 2ons DR 03 SNT

a) B3 b) o ) BRT 0T d) 233nres

Which of the gases absorb high energy solar radiation and prevent from reaching
earth ?

a) O, b) N, c) Oy d) CO,

VRNTE CINT RO BEO0S "Dcﬁ@%dsamﬁ& EeOEROT L3RRI 333 ST sg(
:%céojooéd 9

a) @dgﬁudé b) moTx3 c) wadnems d) omen @ ug &
First CNG vehicles were introduced in
a) Mumbai b) Chennai c) New Delhi d) Bengaluru
CNG o200z 239=0e3 m%ﬁr@aﬁo BATIL TS C3053 INSTE) ) WO TSRO ?
a) dwoaﬁ b) 333 C) IRTH d) Wonsedd
Biomethanization is also known as
a) Anaerobic digestion b) Chemical digestion
c) Alternate fuel d) Aerobic digestion
2% Swewesdes (Biomethanization) D) Soerione 3T030E3
a) TTRTF T 236608 §0 b) TomICHRZ wmr%oia
c) FodneoDd QOB d) ST RS 8@9@?%033
Which of the following does not have antioxidants ?
a) Flavonoids b) Sugars c) Vitamin C d) p-Carotene
QRNYY_ O3NS méwrsa (antlomdants)rie?@ 9
a) wmemo\i}# b) "éd B)4% zﬁeaﬁ,\% d) B-gednetdns
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85. Chronic obstructive pulmonary diseases are caused due to
a) Water pollution b) Soil pollution  ¢) Marine pollution d) Air pollution
2 ABREB RowoQE ADOTYT BREN QO BN
a) ) m@s b) m BRI c) el SROF, d) oosn aﬁm‘);’%
66. Which of the following are considered as natural sinks of atmospheric CO, ?
a) Rivers and lakes b) Land masses
c) Volcanoes d) Forests and oceans
33 FFT0ERI NSO ) CIRTYEY) QOMOT & 8 =S SANEF SoedRTC Dapeneh 9
a) 30N aﬁaéa {oTatey) b) ziraw 33N
c) @ﬂwaﬁréﬁ%ﬁo d) %Dabrf@éo OB NN
67. Name the important vaccine used for Polio prevention
a) DPT b) Sabin’s c) MMR - d) BCG
o,gjae@oimd& 5537?@3@3 SUTOSRENTOT T30 O3
a) DPT b) Sabin’s c) MMR d) BCG
68. Whooping cough is medically known as
a) Pertusis b) Diphtheria c) Influenza d) Polio
Splevh) édgﬁo 33,T3,8€030mN &oeriod deleverchle
a) JLDFIRT b) &eco0b c) @W@pﬁaom d) Zpedadne
69. Biocoenosis disease is spread in the workers of
a) Mining workers b) Machinery workers
c) Cotton textile workers d) Medicine workers
2 odmeaper s wow dreensy) cdnss E0RMTIE) ) B0 9
) NESOBOR BORMTD b) 01303 ﬁ@od BOR BB
C) BENTL30D FLRMID d) mcé B3R 0%03 FORMTDD
70. Which of the following is a vector disease ?
a) Tetanus b) Diabetes c) Cancer d) Dengue
23 TPB0BYNSS ) CIRFYT 68N BRI BRen ?
a) w‘bw\rm b) oo C) RIC° d) @onw
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